BfEY>T 1—RYyh—ER

. = =
2 X & F% EERYSI1—2E8
X&£4|F250 BAYST1—RYyH—REFHEU—15) KEERKXE % 1 100 A
218 [RBERBEHAE F2Yvh—15 ENCI = "
BEF |[2010%F 6H 13H 11 30% A& R 605 EwvFiKEE
T % B B &1 Ft Fh& FANES F B 2 | 2EBK
B2 A =iE ECERE hA B XE | KEH
(F—L1) (F—L2)
0 CIES 0
PRI - =D ey e B 4 0 EHFC 7X—)L
Kick off 4 ®BE 0
{ %?K%% {
xR 21—k = . T T . = 21—k xR
Noiousm| BE [ BE FHlA| =18 w22y BEFTE | AT EE BEE oumhn
0 gl Z4 |cklot][o1|GK] M@ FX 0 43
1 1 2 =+ @Ak |[DF|03][[03|DF] Zxk &2 0
0 FHE =4 [DF[04[[04|DF| FEH& EERE 0
1 1 2 52 g |MFlo5[[06[MF| ATH @A 0
1 2 3|1 o FHa |[MFloz[[o7|MF] mAs #hEE 0
41 1 2 3 WwH EXAEE [Fwl11[[o8|MF] H& — 1 1
2 1 3|1 =5 #HE [MF[13][09|Fw|] BRE B3k 0
0 Wik X |IpFl14]]10|FwW| FHE &R 0 42
2 2 14 A w= |[FwW[17[[11|Fw] =H BHE 0 53
1 11 MEEGSENE R EEEEES 0 45
53 3 13 =is B [MF[23[[17[DF| FEE#S = 0
0 S A |DF[02]|02|MF| #WE E—ER 0
0 sull K [MF[06]]|05[DF| =@ Z|:X 0
0 #2 = [mrlog[l13]FwW] =& % 0
11 2 2 [ 1 8 = [Fwlo9][15[Fw] FH AlE 0 10
0 A% = [MFl10][16[Fw] FE)II RE 0
0 Bk Bt |DF|16[[18[DF| kA Z&i} 0 14
0 i E£H [MFl20[[19|MF| hiE &I 0
23 0 53 Gt [DF[22][24|DF] &R #HX 0
0 #ik ke [okl12]]21|GK] ft #®E 0 01
=55 w | me | F—raw | me | s =5 R
22| EF4| BE | 2R | EH —e 22| EFHL | B [ - EHR
11 12 [23]a—K] 1 0 1 03 |k #Z| 35 = C1
4 0 4 GK [11 7 4 [11[zm am| 52 = CT
4 2 6] CK |2 0 2 01 | EX| 41 = C3
2 4 6 |[[EEFK]| 9 3 6
1 0 1 | EEFK] 9 4 5
1 0 1 [d7940)] 9 4 5
1 0 1 PK |0 0 0
[(Z2E£EH] G RAR—YMITE.C257F L1, C3: BiE. C4EYIRLDER., C5:BHEITA. C6: BT E. CT.EF T A, CEF X
EBIEH] S1:ELLFELT LA, S2ERLEITA. S3DIEME . S4: B AMESMHIE (F). S5:ESMEEIE(GR) . S6:{85. CS:ZE4 2

R A F—L% g2 BRBEEEL [Hl:~FYIII, —-300/ R, T FEHRD/NR, XEBE,. SVa—b~ HATAYT
36 | vtrmEva—7a—x|07] /I BHE [PKIS

39 |YivtermECa=7a—2z| 13 =4 thiE [77113S

48 | vtbrmEs2=7a1—x] 09 ¥ &  [9~S

60+1 | vtrmEsa=72—x| 19| WA EH&H [19~S

PKEE D #3218 1 2 3 4 5 6 7 8 9 10 11 12 13

PKEX DB D EEAHI: 10

EDRBENKINLI-EETI0 O, 10BN EBFEMNEKERLI=EETI0 X,

BB E A BB E A
EERT (BF—L) & EERT(BF—L) &
BEF—L) | & GBEF—L) S




